
690 SUPERMOTO BLACK 2008 <2008><AU, GB><9760H3>
FRAME

6215

Pos Part Number Description Additional Text Quantity

1* 7500300110033 FRAME ''EE08'' BLACK MATT 1.00

2 7500300104901 CONNECTION BRACKET ENG. L/S 07 1.00

3 7500310104901 CONNECTION BRACKET ENG. R/S 07 1.00

4 0912080503 AH SCREW DIN912 M8X50 2.00

5 75003015000 SPECIAL SCREW M10X115 ISK8 07 1.00

6 75003014000 SPECIAL SCREW M10X152 ISK8 07 1.00

7 54630044000 COLLAR NUT M10 WS=13 2.00

8 54804067000 CHAIN SLIDING PIECE 03 2.00

9 51103053051 BUSHING 8,2X10X20 2.00

10* 0025080306 HH collar screw M8x30 2.00

11 0125080003 washer DIN 125 A -8.4 1.00

12 0019080206S FLAT HEAD SCREW M. ISA45 M8X20 2.00

13 61003088000 PLUG SFL28 05 2.00

14 7500300200092 SUB FRAME PLATINUM 07 1.00

15 60003004027 FL.HEAD SCREW M10X1,25 L=27 03 2.00

20 7500304800001S FOOTREST BRACKET REAR L/S 07 1.00



21 7500304900001S FOOTREST BRACKET REAR R/S 07 1.00

22 7500305800001S FOOTREST CARRIER L/S 07 1.00

23 7500305900001S FOOTREST CARRIER R/S 07 1.00

24 0912080353 AH SCREW DIN0912-M 8X35 4.00

25 0991080403 FLAT HEAD SCREW DIN7991-M 8X40 2.00

26 0912080203 AH SCREW DIN912 M8x20 2.00

30 60003050000 FOOTREST CPL. L/S REAR 03 1.00

31 60003051000 FOOTREST CPL. R/S REAR 03 1.00

32 60003044000 BOLT FOR FOOTREST REAR 03 2.00

33 0799060003 retaining washer DIN 6799 - 6 2.00

34 60003052000 ENGAGE PANEL FOOTREST R/S 03 2.00

35 60003152000 ENGAGE PANEL FOOTREST L/S 03 2.00

39 60003040033 FOOTPEG L/S+R/S CPL. 03 1.00

40 59003040250 FOOT PEG L/S SILVER 02 SX RACING 1.00

41 59003041250 FOOT PEG R/S SILVER 02 SX RACING 1.00

42 54803044000 PIN FOR FOOT PED 51.5X9.8 MM FE 2.00

43 54603041000 FOOTREST SPRING L/S & R/S 2.00

44 0125100003 washer DIN 125 A 10.5 ONLY FOR 640 DUKE 2.00

45 0094032253 PIN DIN0094-3,2X25 STEEL 2.00

46 60003040010 FOOTREST RUBBER FRONT L/S 03 1.00

47 60003041010 FOOTREST RUBBER FRONT R/S 03 1.00

48 60003044010 CLOSING PANEL FRONT L/S R/S 03 2.00

49 0985050003 Self locking nut DIN 985 M5 2.00

99 54804067110 CHAIN SLIDING KIT BELOW 1.00
* = New part


